KCZBARERABIEN ISR (2.7)

A=BmaiEsi

CCL1 255 270 115 115 110
CCL2 210 225 115 115 155

TCL 272 320 148 148 150

_
i 763 219 124

SE =3V E SSES 8869 220 |15

ME imdt  HEEBRLE 642 165 125

EIN &R S 10415 270 120

fRAA N W& F=ERM 10221 300 l40

BifH WE  IWFZE 1109 280 160

N =M BEkE 17275 370 130

SRZHT M IR EJMNERE 10085 305 145
BRERE IR ERENE 1307 340 150

B F—T/ERALL , HREGHEECL ( X —HEEE ) [£2075T/
[, CCL1 ( BA-EliEsg ) 15/, CCL2 ( HIFk-
LLIZRFFT ) BEL5 o/, TCL ( JEE—ERF ) B#487T/MH,

ENEEE—LIIEH , "EBNESF  SHERED
HAERREETT , ML REEKEE—FHERSS , AEE
KihZE | RIehBEMESER/MEE , SNSUBEESRIR
NE | HREEERERRE , KREEREEE, BEER
pQEREE= 1_%" 7(35 ﬂ:\JLuéfIEJ:%nn{m‘%i*
#ilima) , SEEIEREAE | REEX,

PSS BT RAEATRES B IRATEIE T OEERE | (VisE |

6351 5616503 | bRz

LWAdXERTNHNEXREZEMRBELOERE
EEZREIEN RHELEMFHKARI]! 5. 15383618736




